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‘cOMPLETE |\)):¥¥3 &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

COMMON STATEMENTS USED IN
RACE BASED QUESTIONS
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MATHSEI: r all g pXa BY ADITYA RANJAN SIR

_Cgm iagiont e In arace of 1 km, A beats B by 100 metre.

U 1 fadft #4975 9 A, B &1 100 W@ ofa? ¥ ZIar 2
<+ 100 m—>
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MATHSEI: r all g pXa BY ADITYA RANJAN SIR

e In arace of 1 km, A beats B by 10 sec.
D.IS“QQ(.C"‘?SOW 1mﬁﬁ3ﬁA,B3ﬁ10m%3ﬁTﬁm%l

¢
) B A
¥ A B A:B
S | 1000 m 1000 m
T T (T + 10) sec.
A 8
TS q I\



or all govt. exz | BYADITYA RANJAN SIR

In a race of 1 km, A can give B a start of 100
metre.

1 Tt =t €1 § A, B &l 100 HieT & yr&aa 2T 2

<4— 100 m ——p A’lB
A B
A B

1000 m 900 m
T sec T sec



or all govt. exz By ADITYA RANJAN SIR

A can give B a start of t minutes : This statement
implies that A will start t minutes after B starts
from the starting point.

A, B &l t Tz &t yr&wama aa1 € @ 39 9" &1 49 B

foh yrwamdt fag ¥ B & t fime &g A 91% &ar 2



30Vt exa BY ADITYA RANJAN SIR

In a race of 1 km, A gives B a start of 150 metre
and still wins by 10 sec.

1 fedt &t <tz & A, B &0 150 HieT &t yr&aa aar 8
3T 5T off 10 9&hg & 3T | Sta Smar g

<4— 150 m —p

A B B A
A B

1000 m 850 m
T sec (T + 10) sec



yovt. exz By ADITYA RANJAN SIR

Dead Heat : A dead heat situation is when all
participants reach the finishing point at the
same instant of time.

U7 U E WEG W UEed &
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W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

Q1. In a 100-m race, A beats B by 20 m and B

beats C by 20 m. By how much distance does
A beat C.

100 m & S § A, B &l 20 m ¥ @1 & 3i¥
B, C &l 20 m & W@ 21 A, C =t Tt g6 &

- ==

A: B: c BT 87

00 8 _80 SSC CGL 02/12/2022 (Shift- 03)
100 lop : 8o (a) 64 m (b) 24 m

10066 : 8006: oo (c) 25 m (dy36 m

o/
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'COMPLETE |\,/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

foil  Bawd  Chasles Q2. In a 1500 m race, Anil beats Bakul by 150

(360 1350 m and in the same race Bakul beats Charles
1500 by 75 m. By what distance does Anil beat
JSO0 |S00 ly2s Charles?

@mma‘r@n arﬁ'a#amam 150 m ¥
maﬂvmmnm#amimnmﬁ

Anl  Chartes g e A wed &t feat g9 | g 87
"969{‘ 3¢ x5 (3Y'217.50 m (b) 200.15 m
&L =T c) 293.50 m (d) 313.75 m
\800 D128 Q

N~
8= Qg N



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

foil  Bawd  Chasles Q2. In a 1500 m race, Anil beats Bakul by 150

. 13850 m and in the same race Bakul beats Charles
W ' q by 75 m. By what distance does Anil beat
0 _ Charles?
&5 ST 1500 m #f &8 ®, 31" 7 dahel &l 150 m ¥
20 19 FAT 3T 3HT Sg H g A ATed & 75 m |
A -8 gran e 3 ared @t faadt g6 | T €7
o q ' é SSC CGL 01/12/2022 (Shift- 01)
%o WD . |9 M%SO m (b) 200.15 m
200 180 : W (c) 293.50 m (d) 313.75 m

&

Yy lSOomq 4
B i - 33 =
_ Wy g 1S



sovt. exa BY ADITYA RANJAN SIR

Q3. In al500-m race, if A beats B by 100 m and B
beats C by 150 m, then by what distance (in m)
does A beat C?

_1500-m @t 212 | afa A, B@ 100 m H W& &l

%lMOmnmm% ar A, C &I
feraet g1 (m ) ¥ WG HTaT 87

SSC CHSL 03/06/2022 (Shift- 2)

(a) 140 (b) 150

(c) 100 (240
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sovt. exa BY ADITYA RANJAN SIR

Q4._A B ina 100-metre race by 10 metres.
B can beat C in a 100-metre race by 10 metres.

What is the ratio (t, : t, : t_ ), which are the
respective times taken by A, B and C to
complete the race?

A 100 2T &t 212 § B &l 10 Hi2T ¥ BT Hehal £
B 100 Hi2T &t g § C &l 10 HieT § & Wehal £
IUE (t, st :t) WM E, AN AS W Y HA &
8w A, B 3iw C grr forar wan waifim wwa £7

SSC MTS 07/07/2022 (Shift- 1)

(a) 100 : 90 : 81 (b) 90 : 81 : 100
(c) 100 : 81 : 90 d) &1 : 90 : 100
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sovt. exa BY ADITYA RANJAN SIR

In a linear race of S00 m, A can beat B by
50 m and in a race of 600 m, B can beat C
by 60 m. By how many metres will A beat C
in a race of 400 m?

500 m & Us (@9 3 4, A, B &%l 50 m ¥
T Hahdl £ 3T 600 m i 22 § B, C &l 60
m ® T G&Har 21 400 m &t &2 § A, C &l
fepa= dier | grom?

SSC CGL 08/12/2022 (Shift- 03)

(a) 70 (b) 68

Jc)76 (d) 72



; MATHSE)I): or all go OX 2 BY ADITYA RANJAN SIR

A ) C Q6- In a 1200 m race, bike A beats bike B by 100
956 © 1100 T m. Bike B beats bike C by 100 m in a 600 m
1206 - race. If bike A beats bike C by 30 sec in a

6ee- . SO0 4
6 : 720 m race, then what is the speed of bike C?
Dls w2 66 SS 1200 m & 212 ® @E® A, a5F B & 100 m
i o d Al £1 600 m ®f 3T H @TEE B, AEE C
o ’ & 100 m ¥ TIEr 21 gfg &g A 720 m &
> Y2 . Sg R " .
{amnmcﬁsoﬁmﬁméﬁ%’,?ﬁ
‘ ATk C i AdTU|
T4t = g S QUSSC CGL 03/12/2022 (Shift- 01)
:30 "
S N 17 26
- 2)%%‘;:” (81" 5 m / sec (b) -?m/sec
3 17

(c) ?m / sec (d) z;—ﬁm / sec



¥ In a 100m vace
oom

A give lom Grart 10 B.

Finisi,

i P& g 100m



T>wnst  hey Da.-&
Dg

BY ADITYA RANJAN SIR

2
Ais 1 3 times faster than B, A gives 60m start

to B in a race find the length of race if both
finished race at same time.

ABBﬁWftl AT AW €, AU& &5 H B

'A&aﬁeoﬁam’tmméﬂr? afg I s &

Sa

mﬁmqﬁmgaﬁmﬁmﬁmﬁl

(a) 90 (b
(c) 120 (d) 180
L EX



ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

8. In a S500m race, ratio of speed of bobby & Lala

is 3 : 4. If bobby has a start of 140m. Then
bobby wins by?

500 WeT @i Uk Irg U ATET qUT ATAT i =T
&1 U 3 : 4 € Afe arEr & urd 140 T &
IEATd & A arat feraw Wier @ Sram?

(a) 15 5] 20

(c) 30 (d) 25




30Vt exa | BYADITYA RANJAN SIR

0, Geeta runs 5/2 times as fast as Babita. In a
race, if Geeta gives a lead of 40 m toBabita,
find the distance from the starting point where
both of them will meet (correctup to two
decimal places).

ar, aetar ¥ 5,2 AT AW At § UH W A,
afg far, a@=ftar 1 40 WieT &t @@q Idr §, o

oy - doxs a A fael (Ivrera & arg &1 T dah guTifahd )|
3 SSC CPO 10/11/2022 (Shift-01)
- 0o - w6.67 m (b) 65 m
3~ = %666 c) 65.33 m (d) 66 m

3
2



MATHSEI): o
6
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BY ADITYA RANJAN SIR

10. If the ratio of speeds of Aand Bis S: 6 and

B allows A a start of 70 meters in a 1.2 km
race, who will win the race and by what
distance?

A 3T Bat ifa &1 U 5 : 6 € 3T B 1.2
feddt @t @2 o A =1 70 Wer &t yHaE Iar ¥,
ferast g9 | 3iiv = Srg A

(a) 30m, A

(b) 200m, B

\J2"130m, B

(d) The race finishes in a dead heat



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

11. In a 1400 m race John reaches the finish point

James
John in 1 min 6 sec, while James reaches the finish

Tine /56/ - ‘_1’ point in 77 sec. By how much distance does
6 John beat James?
Speed M o 6 1400 m @i 218 ¥ W1 1 fusz 6 Wahve W 3id fag

e Ugddl ¢, Wafeh W 77 He&hvs ° ofa fag 9@
- Ugadl g1 W9, S W feRadt g | Zar #7
SIb - > & JEISSC Phase X 03/08/2022 (Shift- 02)

\Z\g Yoo (a) 240 m (b) 220 m
200 (c) 180 m (dY200 m

T &anu  (SoD)



Jovt. ex: | Y ADITYA RANJAN SIR

12. A can run_l km in 4 min, and B can cover

the same distance in 4 min 10 sec. By what

distance can A beat Bin a 1 km race?
A4 foqz o 1 faddt 912 @&t £ 30T B 3a+t &1
I 4 WigR 10 HHe ¥ 99 &7 Tahar g1 1 Tt =
a1 W A, B &t foadt gt 9 201 9t 27

(a) 45 m ;:3/40 m
(c) 35S m 2¢ (d) 30 m
Se Y
v (™)

o \U\D)n\ﬂ



ATHSKI r all g pXa BY ADITYA RANJAN SIR

D250 A R 13. Amit and Beenu can cover a 400 m race in
! )‘( . _B0 44 seconds and 50 seconds, respectively.
22 25 When Amit finished the race, then Beenu is

g> 2S : 22 at what distance from the finishing line?

>ast 28: 3rﬁm 3ﬁ'r&ﬁ=1\ v Qg s 44‘m
% S/p» 28:22 T 50 FwhE W g W Had &1 W@ fia Srg g

& & A £, At A war TEr @ fEa 3T e 87
(a) SO m (b) 52 m

— 12148 m (d) 45 m



ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

D20 A R 13. Amit and Beenu can cover a 400 m race in
M . _B0 44 seconds and 50 seconds, respectively.
t

22 25 When Amit finished the race, then Beenu is

D /S-) % - 29 at what\ disﬂtance from thﬁe fi‘nishing line? |
\/\/. sfaa 3T &9 400 W2t &t 218 HAI: 44 AHE
B 3unit = (6X3=yg 3T 50 Hhg W it &7 Wahd 8| Wa 3rfaa 2rg g
(6 &7 |ar &, 91 & |9ue e | feadt g7 gt 872

(a) 50 m (b) 52 m

{248 m (d) 45 m



_D- 25
42

A L}
D 400 38s
T &5 35
Se 11
= 385
3

Jovt. exz | Y ADITYA RANJAN SIR

In a 400-metre race, A runs at a speed of 16
m/sec. If A gives B a start of 15 metres and
still beats him by 10 sec, then what is the
speed of B?

400 WET #Hf 212 W, A 16 W/ AHKe & A |
argar g1 afg A, B &l 15 W2t & Ir&3na 241 8
I 5T ot 39 10 AFSs W g0 AT &, @1 B &t
AT T 22

SSC CGL 02/12/2022 (Shift- 02)

\M/ll m/sec (b) 10 m/sec
(c) 13 m/sec (d) 9 m/sec




ATHSKI r all g pXa BY ADITYA RANJAN SIR

{ﬂ =D= _-LQQ"é/).("e' 3 = 60 Secondis. 15. Ina 100 m race, A runs at 6 km/hr. If A gives
5 X B a start of 8 m and still beats him by 9
seconds, what is the speed of B?

A e 100 e & drz § A 6 fEdt/Ha @ @ drEa
D oo . g1 afs A, B &1 8 (HeY =t ysama 2a1 ¢ 3iw fow
69 , Al ¥ \
T ©e ot ag 9 UhT W TN FAT &, A B F A @@ £7
4y 6 (a) 4.6 km/hr (bY4.8 km/hr
Sg=22 X)8 (c) 5.2 km/hr (d) 5.4 km/hr
£ g
.4



MATHSEI): or all g

BY ADITYA RANJAN SIR

In a 300 m race A runs at a speed of 9 km/hr.
He gives a start of 30 m to B and still defeats
him by 15 sec. What is the speed of B?

300 WieT &t 218 W A 9 Tt g2 = nifd | = 2
ag B @l 30 WieT Ugel d134 & g2 dar § AW 3W
fFT off 15 Hehg | &0 241 €1 B &1 ifa faasr 872

(a) 6.3 km/hr (b) 8.1 km/hr
\(cy/.2 km/hr (d) 8 km/hr



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

A 8 17. A’s speed is 30% more than that of B. If A

S |3¢ : IOﬂ and B run a race on a 117 m length race, what

part of the length of the race should A give

[3unit B as a head start, so that the race ends in a

/% dead heat?

Aﬁwsﬁa@ﬁso%ﬁw%mﬁAaﬁr

—_ 1M ———4 B,117 Wizt &t 3 od &, df A @i Erg @i

q darg & fhaar 9 B &l J[EATA d@d & ®9 W
Q”S:;‘ZX3=9_~' 37 wrfew, arfe ETg aSvTadt uT wuTE B 9e?

.}3/ (a) 90 m (b) 117 m

cy 27 m (d) 36 m
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BY ADITYA RANJAN SIR

In a race of senior citizens, Mr. A can give his
friend Mr. B a start of 20 m and Mr. C a start
of 39 m in a race of 100 m. How much start
can Mr. B give Mr. C in a 100 m race?

e MRt st 100 HieT & 378 | W A 370
I sim™ B @ 20 WiET W sfime € & 39
et @ "gd 24 1 #fium B, ¢t C & 100 |2

& 212 | foraq dieT &t =gq 277?
(a) 10 m (b) 15 m
(c) 18 m (d) 23.7S m
S
lDo_q
y o7 deyg



18.
& & C
[0D 80 6l
N

BY ADITYA RANJAN SIR

In a race of senior citizens, Mr. A can give his
friend Mr. B a start of 20 m and Mr. C a start
of 39 m in a race of 100 m. How much start
can Mr. B give Mr. C in a 100 m race?

aite AN & 100 WieT & 378 H gimr A 310
I ¢\ B @l 20 HigT W #iW C & 39
et @ "gd 24 1 #fium B, ¢t C & 100 |2
& 213 o e dreT =it =ga 2772

(a) 10 m (b) 1S m

(c) 18 m (d) 23.7S m



Case

e2
Q
1IS00 1300 Yy D
+ 181 ¢
Sa = S@
1366 = ||
t+8 +r
13t = 114 +8Q

In a 1500 m race, if vehicle P gives vehicle
Q a start of 200 m, then vehicle P wins the
race by 8 sec. Alternatively, if vehicle P gives

vehicle Q a start of 400 m, the race ends in
a dead heat. How long does vehicle P take to
run 1500 m?

1500 m &t 79 W, =g aE" P aE+a Q & 200
m H FqGd 39T &, 9 9%q P, 8 HHUS IH A
ATar 81 gae faudta, afs aes P aws Q &' 400
m 1 Fgd a1 &, 91 T STEET 9T WU grel g
aEd P & 1500 m =4 ° ferasm qua &mar 27

SSC CGL 07/12/2022 (Shift- 01)
\Jm/44 sec

(b) 45 sec
(c) 40 sec (d) 60 sec



351 = 14 430

4i=3m
= 3o
X

BY ADITYA RANJAN SIR

In a 200m race, if 4 gives B a start of 25
meters, then A wins the race by 10 seconds.
Alternately, if A gives B a start of 45 meters
the race ends in a dead heat. How long does
A take to run 200 m?

200 W @i dre W, afe A, B &l 25 WieT &
YA da1 &, a1 A 10 Hahe | IS Fid aam g
d&feas ®T H, a9 A, B &l 45 WeT &l yTHAE
a1 ¢ af 218 ST §ie U WU B WA g1 A i
200 2T Freq o fawa=n gua &Er 27

\(1(77.5 sec (b) 122.5 sec
(c) 32.5 sec (d) 22.5 sec




MATHSE1I: or all govt. exa BY ADITYA RANJAN SIR

A ] 21. In a 1000 m race, Arjun, Balaji and Charan

068 @ Qee are running. Arjun beats Balaji by 100 m, and

0 1066 alaji beats Charan by 100 m. In the next
ﬁ— 1000 m race (the speeds are the same as in
S IED . 90 the previous), Balaji gives Charan a head start
(ol "of 100 m, and Arjun gives Balaji a head start
ngfg 5 looo 900 of 100 m. Find the distance by which the
. |0 winner is ahead of the person just behind him.
Timy ‘300/%%' &81‘2 1000 m i &% H 397, ATES AT wOr qrY
( ngm?mEﬁTIOOmQWW?

OSec _ 10Sece ((Q-Q Sec )/ =701 @ 100 m & FIT4TI 37& 1000 m =g o

D (frh}uwammmz)mmmloo

D T m W IIHIE a9 £ 3T 37A, @rerst @ 100
BQqu i # yEAT A E A g wm www ol
l)Q~| 3 =882 dter W@ arel =afaa | T 2
= 23, SSC CGL 13/12/2022 (Shift- 01)
(a) 100 m (b) 4
%f‘( (c) 30 m (d)/20 m
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BY ADITYA RANJAN SIR

A can beat B ina 100-metre race by 10 metres.
B can beat C in a 100-metre race by 10 metres.
What is the ratio (t, : t, : t ), which are the
respective times taken by A, B and C to
complete the race?

A 100 12T &t 212 ®§ B @l 10 W2t | g0 |ahdl 2
B 100 WieT & 312 § C &l 10 HiZT | 1T Hehel £
FUTA (t, : t :t) W E, T AT H YU HA &
few A, B 31T € g forar war wafua wwg 27

SSC MTS 07/07/2022 (Shift- 1)

(a) 100 : 90 : 81 (b) 90 : 81 : 100

(c) 100 : 81 : 90 \(dﬁl : 90 : 100



MATHSRE)I): or all g

23.

BY ADITYA RANJAN SIR

Priya can run 250 m in 15 seconds and Payal
in 20 seconds. How many meters start can
Priya give to Payal in one km race so that the
race may end in a dead-heat?

faar 15 Wz ® 250 HiET 3T 9rIe 20 W& H 250
HzT drg wawhdt g fuan ua ferddt &t drs o urae &
feraa et 9% Uzl SreH T EET 2 Hahdl & ATk
qg d7g it U |uTE El?

(a) 100 m Mo m
(c) 150 m d) SO m




¥ A beats @ ba 50m or 5second.

beat & by S sewnd

A 8

[0o00O

A beot B by Som A
A &
D Iooo Qso D
LI T - T
\
U3 19 %
=log
%L 1tg Sg=
qt*QS:

20¢

|

(00
£+

A

Qp -
R=ST (0
Pt



ATHSE): or all govt. exz By ADITYA RANJAN SIR

‘m or S seconds. What is the difference between
= |00 second the speeds (in m/s) of A and B?

| 1000 m @&t @ g ¥\A, B &l 50 m a1 5

. \ : . e e

14 = 95sewnd - loop| FES & T AW P A 3T B F W@ (m/s H) @
Qs | @irw Taha=r 3@t &7

SSC CGL 06/12/2022 (Shift- 03)

Owy - |0<(?)0 -10 -
S e

. T \‘9/]12
%

qs 2

9
© 3o ) ==

5¢ = } loms~! 24. In a linear race of 1000 m,lA beats B by 50

i |
3



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

A 3 A 25. A and B run 1 km and A wins by 25 second. A
1000 j000 D (000 and C run 1 km and A wins by 275 metre.
4

When B and C run the same distance, B wins
by 30 sdeconds. The time taken by A to run 1

km is :

& A it B, 1 it drgd ¥ aft A 25 FwzT A W
" A #1 A si € 1 fa drgh # s A, 275 Hew
T 42 ¥ Saar ¥ 9@ B AT C W I ErEd &, B, 30

i Hhg H S Arar 81 A & 1 Tt Sgq o e aren

’\l%: 060" \_M/Zmin 25 sec (b) 2 min 50 sec

:) " visSe (c) 3 min 20 sec (d) 3 min 30 sec

) :Jr?q"ss*‘m = 48 Secomg

:) QX :)4 t Q"hu\ QS &e(mq



